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Question # 1 (51%) Circle the correct answer
1. Find the slope of the line passes through (-5,0),(0,5)
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d. The line has no slope 5
2. The slope of the line tangent to the curve 2x? — y* = 6x at (1,2) is
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b. 1800 NR: doo0o _‘lo)(
c. 2000 =~ 3000 - lo(1o0a)
d. None of the above — |0Qoe

8. If the demand curve is p = 40 — 0.1¢ and the supply curveisp = 0.2¢ + 10, the
equilibrivm point is

(100,30) Demand = Su{)PJ?j
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10. The vertex of the parabola f{x) = —x? — 2x is
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continuously is _ f P
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a. (0.1)(In 2 )years
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d. None of the above l & Q Mt
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a If a bank pays 12% compounded quarterly, how much should be depesited now to
have $6000 in five years.
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b. Find the maximum and the minimum of f(x) = x* — 8x2
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Formulate the following problem as a linear programming problem (DO NOT SOLVE):

A small accounting firm prepares tax returns for two types of customers: individuals
and small businesses. Data is collected during an interview. A computer system is used
to produce the tax return. It takes 3 hours to ent ta into the computer for an

individual tax return and 2.5 hours to enter gggg_[qg_ a small business tax return.
There is a mﬁ;mmw\eeffor data entry. It takes 30 minutes for the
computer to processan indtvidual tax return and 20 minutes to process a small
business tax return. The computer is available for a maximum of 900 minutes per
week. The accounting firm makes a profit of $200 on each individual tax return
processed and a profit of $150 on each small business tax return processed. How

many of each type of tax return should the firm schedule each week in order to
maximize its profit? -
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2y ~eswoamvanuny uemand tunction for a product is given by p + x = 140, and its cost
functwm is given by C(x) = 1600 + 20x + x*
a. Find the equilibrium point
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b. Find the maximum profit 4 )
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¢. Tind The minimum average cost per unit
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and p, are the respective prices (in thousands of dellars) for each product, and x and y are
respective amounts (in thousands of units). Suppose the joint cost function is

Clx,y) = x> +3y? + 2xy

Determine the prices and amounts that will maximize the profit. What is
the maximum profit.
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